Review Chapter 22
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Which are seed plants?

	a.
	cycads and ginkgos

	b.
	conifers

	c.
	angiosperms

	d.
	all of these


____
2.
The first group with flowers were

	a.
	algae.

	b.
	fern allies.

	c.
	ferns.

	d.
	angiosperms.

	e.
	gymnosperms.


____
3.
All are Bryophytes EXCEPT

	a.
	hornworts.

	b.
	liverworts.

	c.
	lycopods.

	d.
	mosses.


____
4.
Which of the following produces no seeds?

	a.
	cycads

	b.
	conifers

	c.
	horsetails

	d.
	ginkgos

	e.
	tomato


____
5.
All but which of the following would be associated with vascular plants?

	a.
	root systems

	b.
	bryophytes

	c.
	angiosperms

	d.
	gymnosperms

	e.
	shoot systems


____
6.
Green plants need which of the following?

	a.
	sunlight energy

	b.
	water

	c.
	carbon dioxide

	d.
	minerals

	e.
	all of these


____
7.
Which of the following is true of xylem?

	a.
	conducts water downward in the plant

	b.
	transports food upward in the plant

	c.
	transports water and minerals

	d.
	transfers materials from stem to leaf


____
8.
The cuticle of a plant is primarily for

	a.
	retention of water.

	b.
	conduction of fluids.

	c.
	absorption of carbon dioxide.

	d.
	protection from strong sunlight.

	e.
	all of these


____
9.
Stomata are responsible for

	a.
	water escape from the leaves.

	b.
	carbon dioxide entry.

	c.
	mineral absorption.

	d.
	water escape from the leaves and carbon dioxide entry.

	e.
	water escape from the leaves, carbon dioxide entry, and mineral absorption.


____
10.
In the life cycle of primitive plants, which of the following predominates?

	a.
	haploid stage

	b.
	diploid stage

	c.
	large sporophyte body

	d.
	both diploid stage and large sporophyte body

	e.
	both haploid stage and large sporophyte body


____
11.
Which of the following is NOT a major trend in terrestrial autotroph evolution?

	a.
	development of vascular tissue.

	b.
	adaptation to environmental stress.

	c.
	nonmotile gametes.

	d.
	fertilization by biotic vectors.

	e.
	reduction of the sporophyte phase.


____
12.
Gametophytes are

	a.
	haploid plants that produce spores.

	b.
	diploid plants that produce spores.

	c.
	haploid plants that produce gametes.

	d.
	diploid plants that produce gametes.

	e.
	diploid or haploid plants that produce gametes.


____
13.
In complex land plants the diploid stage is resistant to adverse environmental conditions, such as dwindling water supplies and cold weather. The diploid stage progresses through which sequence?

	a.
	gametophyte -> male and female gametes

	b.
	spores -> sporophyte

	c.
	zygote -> sporophyte

	d.
	zygote -> gametophyte


____
14.
The increased complexity among the different divisions of land plants is paralleled by increased complexity of which of the following?

	a.
	male gamete

	b.
	female gamete

	c.
	gametophyte

	d.
	sporophyte

	e.
	all of these


____
15.
A gametophyte is

	a.
	a gamete-producing plant.

	b.
	haploid.

	c.
	the plant produced by the fusion of gametes.

	d.
	the dominant generation in the higher plants.

	e.
	a gamete-producing plant and haploid.


____
16.
All but which of the following describe trends in plant evolution?

	a.
	nonvascular to vascular

	b.
	spores of two types to spores of one type

	c.
	motile gametes

	d.
	seedless to seeds

	e.
	haploid to diploid dominance


____
17.
Which of the following is NOT a trend evident in plant evolution?

	a.
	increasing independence from water

	b.
	development of vascular tissue

	c.
	increasing dominance of the gametophyte generation

	d.
	evolution from homospory (one type of spore) to heterospory (two types of spores)

	e.
	development of the importance of the diploid phase of the life cycle


____
18.
The first haploid cell in the life cycle of a plant is the

	a.
	zygote.

	b.
	gamete.

	c.
	gametophyte plant.

	d.
	spore.

	e.
	spore mother cell.


____
19.
In the life cycle of vascular plants, meiosis occurs

	a.
	immediately before fertilization.

	b.
	during the production of gametes.

	c.
	as a way of reducing the number of chromosomes in a zygote.

	d.
	in the process of spore formation.

	e.
	in the gametangia.


____
20.
Which of the following is true concerning the male gametophyte?

	a.
	The male gametophyte develops from the pollen grain.

	b.
	The pollen grain is the male gametophyte.

	c.
	The pollen grain develops from the male gametophyte.

	d.
	The male gametophyte is the pollen tube.


____
21.
Which of the following is true concerning seeds?

	a.
	Ferns produce seeds.

	b.
	Seeds form from the female gametophyte.

	c.
	Pollen grains mature into seeds.

	d.
	Most seeds are heterosporous.

	e.
	All of these are true.


____
22.
The heterosporous condition led to evolution of

	a.
	gymnosperms and angiosperms.

	b.
	pollen grains and seeds.

	c.
	male and female plant parts.

	d.
	pollen grains and seeds plus male and female plant parts.

	e.
	gymnosperms, angiosperms, pollen grains and seeds plus male and female plant parts.


____
23.
The mosses and liverworts are members of which division?

	a.
	Psilophyta

	b.
	Lycophyta

	c.
	Sphenophyta

	d.
	Bryophyta

	e.
	Pterophyta


____
24.
Bryophytes differ from all other land plants in that they

	a.
	possess swimming sperm.

	b.
	have independent gametophytes and dependent sporophytes.

	c.
	were the first forms to successfully invade land.

	d.
	exhibit alternation of generations.

	e.
	possess gametangia that produce sperm and eggs.


____
25.
Which statement about Bryophyta is NOT true?

	a.
	The sporophyte is haploid.

	b.
	The sporangium produces spores.

	c.
	The sporophyte is parasitic and attached to the gametophyte.

	d.
	Meiosis precedes spore formation.

	e.
	Bryophytes require water for sexual reproduction.


____
26.
Which of the following do not possess vascular tissue?

	a.
	angiosperms

	b.
	bryophytes

	c.
	conifers

	d.
	ferns

	e.
	ginkgoes


____
27.
All but which of the following are bryophytes?

	a.
	hornworts

	b.
	liverworts

	c.
	lycophytes

	d.
	mosses


____
28.
Mosses are

	a.
	algae.

	b.
	bryophytes.

	c.
	vascular plants.

	d.
	gymnosperms.

	e.
	extinct.


____
29.
Which statement is false?

	a.
	Mosses do not have xylem and phloem.

	b.
	Mosses do not have true leaves.

	c.
	Mosses do not have true stems.

	d.
	Mosses use rhizoids, not roots, for attachment and absorption.

	e.
	Mosses are different from all other plants in that they have an independent sporophyte generation and a dependent gametophyte generation.


____
30.
In horsetails, lycophytes, and ferns,

	a.
	spores give rise to gametophytes.

	b.
	the main plant body is a gametophyte.

	c.
	the sporophyte bears sperm- and egg-producing organs.

	d.
	all of these


____
31.
Which of the following is NOT true of seedless vascular plants?

	a.
	Sporophytes are independent of gametophytes.

	b.
	Water is not needed for gamete transport.

	c.
	Sporophytes have vascular tissue.

	d.
	Seeds are not produced.

	e.
	Living members still exist.


____
32.
Rhizomes in the whisk ferns serve the same function as __________ in more advanced land plants.

	a.
	leaves

	b.
	stems

	c.
	roots

	d.
	seeds

	e.
	flowers


____
33.
Strobili are

	a.
	gametangia.

	b.
	cones.

	c.
	homospores.

	d.
	accessory stems.

	e.
	horizontal stems.


____
34.
The feature of horsetails that was useful to pioneers of the American West was

	a.
	rhizomes.

	b.
	silica in the stems.

	c.
	photosynthetic cells.

	d.
	cones at the tips.


____
35.
Which statement concerning fertilization in ferns is true?

	a.
	It occurs within an archegonium.

	b.
	It requires water.

	c.
	The fertilization product is a seed.

	d.
	It occurs within an archegonium; and it requires water.

	e.
	It occurs within an archegonium; it requires water; and the fertilization product is a seed.


____
36.
Ferns are more advanced than mosses because mosses lack which structure found in ferns?

	a.
	spores

	b.
	cuticle

	c.
	xylem

	d.
	sporophytes

	e.
	pollen


____
37.
What is the name given to the "leaves" of a fern?

	a.
	rhizome

	b.
	rhizoid

	c.
	frond

	d.
	sorus

	e.
	bronchus


____
38.
Which of the following statements is false?

	a.
	The ferns differ from the other vascular plants because they lack seeds.

	b.
	The ferns differ from other vascular plants by having an independent sporophyte generation.

	c.
	The ferns are restricted to wet environments because of the requirements of the gametophytes.

	d.
	Ferns have true roots, stems, and leaves.

	e.
	Ferns possess both xylem and phloem.


____
39.
A sorus is

	a.
	a collection of rust-colored disease spots on a fern.

	b.
	the fern gametophyte.

	c.
	an egg-producing structure.

	d.
	where the sperm are produced.

	e.
	a collection of sporangia.


____
40.
The seed develops from the

	a.
	gametophyte.

	b.
	ovary.

	c.
	ovule.

	d.
	pollen grain.

	e.
	zygote.


____
41.
Gymnosperms

	a.
	were the first plants not to have swimming sperm and were therefore freed from the need for water to reproduce.

	b.
	are divided into two groups, the monocots and dicots.

	c.
	were the first plants to develop vascular tissues.

	d.
	were the first plants to develop flowers to attract insects.


____
42.
The first organisms that did not require water for reproduction were the

	a.
	ferns.

	b.
	lycophytes.

	c.
	cycads.

	d.
	flowering plants.

	e.
	gymnosperms.


____
43.
What is the most appropriate term for a mature pollen grain?

	a.
	megaspore

	b.
	microsporangium

	c.
	microgametophyte

	d.
	microgamete

	e.
	all of these


____
44.
Microspores mature into

	a.
	ovules.

	b.
	seeds.

	c.
	pollen grains.

	d.
	anthers.


____
45.
Which of the following is NOT a conifer?

	a.
	pine

	b.
	fir

	c.
	cedar

	d.
	ginkgo

	e.
	cypress


____
46.
The conifers, such as pines and junipers, are examples of the

	a.
	gymnosperms.

	b.
	angiosperms.

	c.
	bryophytes.

	d.
	filicinae.

	e.
	none of these


____
47.
A pine tree is

	a.
	an angiosperm.

	b.
	a haploid plant body.

	c.
	a sporophyte.

	d.
	a living fossil.

	e.
	all of these


____
48.
What are major sources of pulp, lumber, and numerous industrial products?

	a.
	cycads

	b.
	ginkgos

	c.
	conifers

	d.
	hardwoods

	e.
	all of these


____
49.
Angiosperms are more advanced than gymnosperms because gymnosperms lack which structure found in angiosperms?

	a.
	independent gametophytes

	b.
	pollen grains

	c.
	fruits

	d.
	roots


____
50.
The vast majority of plant species are

	a.
	algae.

	b.
	bryophytes.

	c.
	gymnosperms.

	d.
	angiosperms.


____
51.
The first group with flowers was the

	a.
	algae.

	b.
	fern allies.

	c.
	ferns.

	d.
	angiosperms.

	e.
	gymnosperms.


____
52.
The flowering plants and gymnosperms differ from other plants by

	a.
	the possession of vascular tissue.

	b.
	the presence of nonmotile gametes.

	c.
	the presence of two types of spores.

	d.
	dominance by the diploid generation.

	e.
	the possession of vascular tissue and dominance by the diploid generation.


____
53.
The rapid expansion of angiosperms late in the Mesozoic era appears to be related to theircoevolution with

	a.
	dinosaurs.

	b.
	gymnosperms.

	c.
	insects.

	d.
	mammals.

	e.
	birds.


____
54.
The group of plants that has the most species is

	a.
	mosses.

	b.
	ferns.

	c.
	gymnosperms.

	d.
	dicots.

	e.
	monocots.


____
55.
Dependence on animal vectors for fertilization and dispersal is characteristic of many species of

	a.
	ferns.

	b.
	angiosperms.

	c.
	mosses.

	d.
	conifers.


Matching
Matching. Choose the most appropriate answer for each.

	a.
	have rhizoids, cuticle, and protected embryo sporophyte

	b.
	"vessel seed"

	c.
	non-seed-bearing, heart-shaped gametophytes; spore-bearing leaves with sori

	d.
	Lycopodium; cone-bearing sporophyte; free-living gametophyte

	e.
	only one species left

	f.
	cypress and redwood; heterosporous; mostly evergreen

	g.
	confined to tropics or warm, temperate zones; resemble squat cone-bearing palm trees

	h.
	two seed leaves

	i.
	Equisetum; homosporous; rhizomes present; aerial stems jointed

	j.
	have coevolved with pollinating vectors


____
56.
dicots
____
57.
conifers
____
58.
club mosses
____
59.
cycads
____
60.
ferns
____
61.
flowering plants
____
62.
ginkgos
____
63.
horsetails
____
64.
mosses, liverworts
____
65.
angiosperm

Review Chapter 22

Answer Section
MULTIPLE CHOICE

1.
D

2.
D

3.
C

4.
C

5.
B

6.
E

7.
C

8.
A

9.
D

10.
A

11.
E

12.
C

13.
C

14.
D

15.
E

16.
B

17.
C

18.
D

19.
D

20.
B

21.
B

22.
E

23.
D

24.
B

25.
A

26.
B

27.
C

28.
B

29.
E

30.
A

31.
B

32.
C

33.
B

34.
B

35.
D

36.
C

37.
C

38.
D

39.
E

40.
C

41.
A

42.
E

43.
C

44.
C

45.
D

46.
A

47.
C

48.
C

49.
C

50.
D

51.
D

52.
E

53.
C

54.
D

55.
B
MATCHING

56.
H

57.
F

58.
D

59.
G

60.
C

61.
J

62.
E

63.
I

64.
A

65.
B

